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(11) H¥$fr{dkmZ d dZemó
1) ‘¥Xmemó
2) eoVr{dkmZ - A°J«moBH$mobm°Or - g|{Ð` eoVr
3) {nHo$ Am{U g§H$[aV OmVr
4) nmUr ì`dñWmnZ

1) ‘¥Xmemó, ‘emJV
1) ‘Ëñ` IVm‘Ü ò NPK Mo à‘mU ......, ...... Am{U ...... Amho.

1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%
3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

1) The percent amount of NPK in Fish manure is ......, ...... and ......

1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%

3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

2) eoVrÀ`m Ñ{ï>H$moZmVyZ ‘mVrMr H$moUVr aMZm gdm©V Bï> Amho
1) ßb°Q>r 2) H«§$~ 3) ñV§̂ r` 4) XmUoXma

2) From the agricultural point of view which structure of soil is most desirable

1) Platy 2) Crumb 3) Columnar 4) Granular

3) ‘w»` Am{U {H$aH$moi dZñnVtÀ`m nmofH$ VËdm§Mo g‘¥Õ IV H$moUVo Amho?
1) eoUIV 2) Jm§Sy>i IV 3) am`Pmo{~`‘ 4) O¡d IVo

3) Which is a rich manure of major and minor plant nutrients ?

1) FYM 2) Vermicompost 3) Rhizobium 4) Biofertilizer

4) Imbrbn¡H$s H$moUË`m IVm‘Ü ò A‘mBS> ñdê$nmV Zm`Q´moOZ AgVo?
1) ẁ[a`m 2) gmo{S>`‘ Zm`QóQ>
3) A‘mo{Z`‘ gë’o$Q> 4) A‘mo{Z`‘ Zm`QóQ>

4) Which of the following fertilizers contains Nitrogen in amide form ?

1) Urea 2) Sodium Nitrate

3) Ammonium Sulphate 4) Ammonium Nitrate

5) H$Mam {ZOªVwH$sH$aU Ho$boë`m nmÊ`mMm nwZdm©na H$aVmZm, ...... H$mTy>Z Q>mH$bo OmVo.
1) KQ>H$ 2) {dfmUy Am{U naOrdr
3) XJS> 4) darbn¡H$s H$mhrhr Zmhr

5) During recycling of waste disinfected water, there is removal of ......

1) Elements 2) Viruses and Parasites

3) Stones 4) None of the above
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6) AZoH$ df} gm§S>nmÊ`mMm H$Mam gVV dmnaë`mZo .............. daÀ`m O{‘ZrV g§dY©Z hmoD$ eH$Vo.
1) Amdí`H$ nmofH$ 2) OS> YmVy
3) ‘mVrMr CËnmXH$Vm 4) darbn¡H$s Zmhr

6) A continuous application of sewage waste over several years may result in enrichment of in the

............. top soil.

1) Essential nutrients 2) Heavy metals

3)Soil productivity 4) None of the above

7) O{‘ZrV ‘mo~mB©b nmofH$ Am`Z AgVmV

n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, b, c Am{U d

7) Mobile nutrient ions in soil are

Answer Options :

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

8) ‘mVrMr H°$Q>m¶Z EŠgM|O j‘Vm ...... Amho
1) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` H°$Q>m¶ÝgMr EHy$U ~oarO
2) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` H°$Q>m`ÝgMr ~oarO
3) ‘mVr emofyZ KoD$ eH$Umè`m Zm°Z-EŠgM|O H$aÊ`m`mo½` Am{U AXbm~Xb H$aÊ`m`mo½` H°$Q>m¶ZMr ~oarO
4) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` A`Zm§Mr EHy$U ~oarO

8) Cation exchange capacity of soil is

1) The sum total of the exchangeable cations that a soil can adsorb

2) The sum total of the exchangeable cations that a soil can absorb

3) The sum total of the non-exchangeable and exchangeable cations that a soil can absorb

4) The sum total of exchangeable ions that a soil can absorb

9) .............. hr ^m¡{VH$ pñWVr Amho Á`m‘Ü ò ‘mVr hr nmÊ`mMr Am{U hdoMr ‘wº$ hmbMmb, gwb^ ‘emJV, bmJdS>,
A~m{YV CJdU Am{U g‘wƒ`m§Mo EH$ Bï>V‘ g¡b, ZmOyH$ Am{U gpÀN>Ð EH$ÌrH$aU Amho. ‘wim§Mr dmT>.
1) nmb aMZm 2) ‘mVrMm nmoV 3) ‘mVrMr ‘emJV 4) ‘emJV

9) .............. is the physical condition in which soil is an optimally loose, friable and porous assemblage

of aggregates permitting free movement of water and air, easy cultivation, planting, unobstructed

germination and root growth.

1) Sail structure 2) Soil texture 3) Soil tilth 4) Tillage
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10) Imbrbn¡H$s H$moUVr {dYmZo ~|Jbmoa H§$nmopñQ>§J nÕVrgmR>r bmJy AmhoV?
a) ~m`mo{S>J«oS>o~b KZH$Mam Am{U amÌrMr ‘mVr d¡H$pënH$ Wam§‘Ü ò, ‘mVrÀ`m I§XH$mV R>odbr OmVo.
b) ho àm‘w»`mZo A°Zmamo{~H$ ñdê$nmMo Amho.
c)  ^amd 3 ‘{hÝ`m§gmR>r {Z`{‘VnUo Mmby Ho$bm OmVmo.
d) ^amd n¥ÏdrÀ`m 15 go‘r WamZo PmH$bobm Amho.
n`m©̀ r CÎmao :
1) ’$º$  (a), (b)  Am{U (c) 2) ’$º$ (a), (b)  Am{U (d)

3) ’$º$ (a)  Am{U (c) 4) ’$º$ (b) Am{U (c)

10) Which of the following statements are applicable to Bangalore method of composting ?

a) Biodegradable solid waste and night soil is placed in alternate layers, in earthen trenches.

b) It is primarily anaerobic in nature.

c) The fill is turned regularly for 3 months.

d) The fill is covered with 15 cm layer of earth.

Answer options:

1) Only (a), (b) and (c) 2) Only (a), (b) and (d)

3) Only (a) and (c) 4) Only (b) and (c)

11) gm`nag amoQ>§S>gMr bmJdS> H$moUË`m ^mJmmÛmao Ho$br OmVo?
1) YmdnQy> 2) emofH$ 3) H§$X 4) Am°’$goQ>

11) By which organ does Cyperus rotundus propogate vegetatively ?

1) Runners 2) Suckers 3) Tubers 4) Offsets

12) ‘mVr àmo’$mBb‘Yrb {j{VO ‘E’ qH$dm‘A
2
’ `m ZmdmZo AmoiIbo OmVo:

1) H$‘mb Eë ẁ{dEeZMo {j{VO 2) gdm©V OmñV I{ZO {j{VO
3) g§H«$‘U ñVa 4) OmñVrV OmñV O‘m hmoÊ`mMo {j{VO

12) The horizon ‘E’ or ‘A
2
’ in soil profile is known as :

1) Horizon of maximum eluviation 2) Top most mineral horizon

3) Transition layer 4) Horizon of maximum accumulation

13) ‘mVrMm nmoV hm ‘mVrMm ‘yb ŷV JwUY‘© Amho H$maU:
1) gmoB© V`ma H$aUm`m© doJdoJù`m AmH$mamÀ`m H$Um§À`m gmnoj à‘mUmZwgma Vo R>adbo OmVo
2) I{ZO ‘mVrVrb H$Um§Mm AmH$ma gmÜ`m gm§ñH¥${VH$ nÕVtZr ~Xby eH$V Zmhr.
3) H$Um§Mm AmH$ma hm`S´mo‘o{Q´H$ nÕVrZo R>adVm òVmo.
4) darb gd©

13) The texture of soil is a basic property of soil because :

1) itis decided by relative proportion of different size particles forming the soil.

2) the size of particles in mineral soils is not subject to change by simple cultural practices.

3) particle size can be decided by hydrometric method.

4) All of the above
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14) Imbrb KQ>H$m§Mm {dMma H$am:
a) IS>H$mMo ñdê$n b)  ~moJÚmMr nÕV
c) ~moJÚmMo àmo’$mBb d)  {bâQ>Mr Imobr
da Z‘yX Ho$boë`m KQ>H$m§n¡H$s H$moUVo KQ>H$ ãbmpñQ>§JgmR>r Amdí`H$$ ñ’$moQ>H$m§À`m à‘mUmda n[aUm‘ H$aVmV?
1) (b)  Am{U (c) 2) (a)  Am{U (b) 3) (c) Am{U  (d)  4) darb gd©

14) Consider the following factors :

a) Nature of rock b) Method of tunnelling

c) Profile of tunnel d) Depth of lift

Which of the factors stated above affect the quantity of explosives required for blasting ?

1) (b) and (c) 2) (a) and (b) 3) (c) and (d) 4) All of the above

15) gmo{S>H$ ‘¥Xm nwZgªM{`V H$aÊ`mMo ‘yb ŷV VÎd Amho:
1) jma gmoS>Ê`mgmR>r AYyZ‘YyZ Vbmd AgUo.
2) H°$Q>Zo Na* ~Xbbo Am{U brM Zo Na+ gmoS>bm.
3) ê$Q> PmoZÀ`m Imbr Agbobo A{V[aº$ jma H$mTy>Z Q>mH$Uo.
4) darb gd©

15) Basic principle of reclamation of Sodic soils is :

1) to have intermittent ponding for leaching of salts.

2) toreplace Na* by Catt and leach released Na+.

3) to remove excess salts below the root zone.

4) All of the above

16) ‘mZdr {H«$`mH$bmnm§À`m à^mdmImbr ñWbr` n[ag§ñWoÀ`m X[aÐr à{H«$ òbm ...... åhUVmV.
1) gmoS>rH$aU 2) dmid§Q>rH$aU 3) AmåbrH$aU 4) O{‘ZrMm èhmg

16) The process of impoverishment of terrestrial ecosystems under impact of human activities is

called ......

1) Sodication 2) Desertification 3) Acidification 4) Land degradation

17) ‘yi gm‘J«rnmgyZ ‘mVrMo H$U doJio H$aUo, `mo½` EO§Q>Ûmao Ë`m§Mr dmhVyH$ H$aUo Am{U JwéËdmH$f©U eº$s¨‘wio EImÚm
{R>H$mUr O‘m hmoUo `mbm Ago åhUVmV:
1) àdoJH$ Yyn 2) ‘mVrMr Yyn 3) nmÊ`mMr Yyn 4) dmè`mMr Yyn

17) The detachment of soil particles from parent material, their transportation by suitable agent and

deposition due to gravitational forces at some place is known as :

1) Accelerated erosion 2) Soil erosion 3) Water erosion 4) Wind erosion

18) ndZ eº$sÀ`m {H«$ ònojm O{‘ZrÀ`m n¥ð>^mJmda ‘mVrMo ‘moR>o H$U bmoQ>Uo qH$dm gaH$Uo `mbm ...... åhUVmV.
1) {Zb§~Z 2) erQ> BamoeZ 3) ñßb°e BamoeZ 4) n¥ð>^mJ a|JmiUo

18) Rolling or sliding of larger soil particles along the land surface moved by particles in saltation,

rather than action of wind force is called ......

1) Suspension 2) Sheet erosion 3) Splash erosion 4) Surface creep
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2) eoVr{dkmZ - A°J«moBH$mobm°Or - g|{Ð` eoVr
1) ............. hm M.B. Mm gmBS> S´mâQ> Amho. j¡{VO g‘Vb VgoM Cä`m g‘Vbmgh 300 IoMmMm H$moZ 1000 N

IoMUmam Zm§Ja.
1) 866N 2) 433N 3) 1000N 4) 100N

1) ............. is the side draft of M.B. plough having pull 1000 N with angle of pull as 30° with horizontal

plane as well as vertical plane.

1) 866N 2) 433N 3) 1000N 4) 100N

2) {nH$mgmR>r dmnaë`m OmUmè`m amgm`{ZH$ IVm§À`m VwbZoV, Z°Zmo IVm§Mr ........ nQ> H$‘r JaO AgVo.
1) 40-60 2) 60-80 3) 80-100 4) 100-120

2) Nanofertilizers are having .......... times less requirement as compared to chemical fertilizers

applied to crop.

1) 40-60 2) 60-80 3) 80-100 4) 100-120

3) ^maVmVrb V¥UYmÝ` Vm§~oam/J§OamoJmÀ`m g§emoYZmV ........... ¶m§Zr ‘hÎdnyU© `moJXmZ {Xbo.
1) ‘w§S>Hy$a 2) ZmJamOZ 3) nm`H$ E‘. E‘. 4) ‘ohVm H$. gr.

3) Significant contribution of disease cycle of cereal rust in India was made by

1) Mundkur 2) Nagarajan 3) Payak M. M. 4) Mehta K. C.

4) pñH$q’$J hm N>mQ>UrMm gdm©V hbH$m àH$ma Amho
1) Mhm 2) H$m°’$s 3) dobMr 4) Xmb{MZr

4) Skiffing is the lightest form of prunning in

1) Tea 2) Coffee 3) Cardamom 4) Cinnamon

5) "ñdrQ> [aìhmoë ỳeZ' H$emer g§~§{YV Amho?
1) gmIaoMo CËnmXZ
2) ‘Y‘mer nmbZ Am{U ‘Y Am{U g§~§{YV CËnmXZm§Mo CËnmXZ
3) JmoS> Xw½YOÝ` nXmWmªMo CËnmXZ
4) à{H«$`m Ho$boë`m ’$i CËnmXZm§Mo CËnmXZ

5) What is ‘Sweet Revolution’ related to ?

1) Production of sugar

2) Beekeeping and production of honey and related products

3) Production of sweet dairy products

4) Production of processed fruit products

6) .......... hm nrH$ CËnmXZ, newYZ, eoVr, ‘Ëñ`nmbZ, dZrH$aU BË`mXr gd© n¡by§Mm g‘mdoe Agbobm EH$ A{Ve`
ì`mnH$ eãX Amho.
1) eoVr 2) {gpëìhnmíMa 3) H¥$fremó 4) {gpëìh-~mJm`V

6)  ..........is a very broad term encompassing all aspects of crop production, livestock, farming,

fisheries, forestry etc.

1) Agriculture 2) Silvipasture 3) Agronomy 4) Silvi-horticulture
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7) Imbrbn¡H$s H$moUVr g§ñWm AmVm n`m©daUr` VmUmgmR>r {nHo$ A{YH$ cdMrH$ H$er ~Zdm`Mr `mMm emoY KoV AmhoV?
1) FAO 2) WMO 3) IPCC 4) CGIAR

7) Which of the following institutes are now investigating how to make crops more resilient to

environmental stress ?

1) FAO 2) WMO 3) IPCC 4) CGIAR

8)  ......... AOm©À`m EH$ ‘{hÝ`mnydu eoUIV (fym) g‘¥Õ H$aÊ`mgmR>r nyU©nUo {‘gibo OmVo.
1) gwna ’$m°ñ’o$Q> 2) ẁ[a`m 3) å ẁ[aEQ> Am°’$ nmoQ>°e 4) darb gd©

8) ......... is thoroughly mixed for enrichment of farmyard manure (fym) before one month of

application.

1) Super Phosphate 2) Urea 3) Muriate of Potash 4) All the above

9) H$‘r {díbofU IVm§‘Ü ò àmW{‘H$ nmofH$ KQ>H$m§À`m Q> o̧$dmar AgVmV.
1) 25 nojm H$‘r 2) 30 nojm H$‘r 3) 35 nojm H$‘r 4) 40 nojm H$‘r

9) The low analysis fertilizers contain per cent of primary nutrients.

1) less than 25 2) less than 30 3) less than 35 4) less than 40

10) ^maVmÀ`m FSSAI Zo ~mOatgmR>r EH$ ì`mnH$ JQ> ‘mZH$ {Z{X©ï> Ho$bo Amho ’y$S> goâQ>r A±S> ñQ>±S>S>© (AÞ CËnmXZo ‘mZHo$
Am{U ImÚ nXmW©) {ÛVr` XwéñVr {Z`‘Z 2023; `m g§X^m©V; Imbrbn¡H$s H$moUVo {dYmZ/Zo MwH$sMo Amho/AmhoV?
a) nydu ~mOar `m H$m`ÚmÀ`m H$joV ZìhVr.
b) Ádmar, ~mOar, ZmMUr Am{U amO{Jam ̀ mgma»`m H$mhr ~mOarM AÞ gwajm Am{U ‘mZH$ {d{Z`‘ 2011 ‘Ü ò {d{hV

Ho$boë`m AmhoV.
c) 2 S>r XwéñVrÛmao FSSAI Zo 15 àH$maÀ`m ~mOatgmR>r 8 JwUdÎmoMo ‘mnX§S> {Z{X©ï> Ho$boë`m ‘mZH$m§Mm EH$ JQ> V`ma Ho$bm Amho.
d) 2 XwéñVr Ëd[aV à^mdmZo bmJy Ho$br OmB©b.
n`m©¶r CÎmao :
1) a, c ’$º$ 2) b, c, d ’$º$ 3) d ’$º$ 4) a, d ’$º$

10) The FSSAI of India has specified a comprehensive group standard for millets Vide Food Safety

and Standard (Food Products Standards and food additives) Second Amendment Regulation 2023;

In this context; which of the following statement/s is/are incorrect ?

a) Earlier millets were not under purview of this act.

b) Only few millets like Jowar, Bajara, Ragi and Amaranthus are prescribed in the Food Safety and

Standard Regulation 2011.

c) By 2"d amendment FSSAI has framed a group of standard for 15 types of millets specifying 8

quality parameters.

d) 2" amendment will be enforced with immediate effect.

Answer options :

1) a, c only 2) b, c, d only 3) d only 4) a, d only

11) ‘wim Am{U gbJ‘ `mdarb nm§T>am J§O ’$dmaUrÛmao {Z §̀{ÌV Ho$bm OmVmo.
1) 0.02% H$m°na gë’o$Q> 2) 0.20% S>m`WoZ PoS>-78 3) {PZo~Mo 0.20% 4) 2% ‘°ÝH$moPo~

11) White rust on radish and turnip are controlled by spraying ......

1) 0.02% Copper Sulphate 2) 0.20% Dithane Z-78

3) 0.20% of Zineb 4) 2% Mancozeb



JQ> ~ d JQ> H$ nyd©narjogmR>r Cn¶wº$ àíZg§J«h : gm‘mÝ¶ {dkmZ  / 48

12) B§Q>a ìhoZb ³bmoamo{gg ho dZñnVtÀ¶m nmZmda H$moUË¶m KQ>H$mÀ¶m H$‘VaVo‘wio {XgyZ ¶oVo?
1) Zm¶Q´>moOZ 2) H°$pëe¶‘ 3) ~moam°Z 4) Am¶Z©

12) Deficiency of which element causes inter veinal chlorosis in leaves of plant ?

1) Nitrogen 2) Calcium 3) Boron 4) Iron

13) nmZm§Mo ~aJS>o qH$dm bd{MH$Vm ho ................ amoJmMo d¡{eï²>`nyU© d¡{eï²>` Amho.
1) ZmaimÀ`m ‘wim 2) Jwbm~mMm H$mim S>mJ 3) S>mqi~mMo VobH$Q> S>mJ 4) g§dhZr {dëQ²g

13) Ribbing of leaflets or flaccidity is a typical character of ................ disease.

1) Root Wilt of Coconut 2) Black Spot of Rose

3) Oily Spot of Pomegranate 4) Vascular Wilts

14) VUZmeH$mMr H¥$Vr ñdrH$mabobr nÕV Amho
1) MN àH$meg§íbofU Am{U ídgZ amoIVo
2) O¡dg§íbofU Am{U noer {d^mOZ à{H«$ òg BZ{h{~Q> H$aVo
3) Agm‘mÝ` D$VH$m§Mm {dH$mg hmoB©b Am{U CJdU à{H«$ òg à{V~§Y hmoB©b
4) darb gd©

14) Accepted mode of action of herbicide is

1) MN inhibits the photosynthesis and respiration

2) Itinhibits the biosynthesis and cell division process

3) There will be abnarmal tissue development and inhibition of the germination process

4) All of the above

15) {~`m§Mo AmdaU ’$moS>Uo, IaMQ>Uo, ̀ m§{ÌH$[aË`m ~XbUo qH$dm ‘D$ H$aUo ̀ m à{H«$ òbm nmUr Am{U dm ỳ§‘Ü ò {PanÊ`m`mo½`
~Z{dÊ`mMr à{H«$`m åhUVmV.
1) A°{gS> CnMma 2) ñH$m[a{’$Ho$eZ 3) brqMJ 4) hm‘m}Zb CnMma

15)  The process of breaking, scratching, mechanically altering or softening the seed coats to make

them permeable to water and gases is known as

1) Acid treatment 2) Scarification 3) Leaching 4) Hormonal treatment

3) {nHo$ Am{U g§H$[aV OmVr
1) àW‘ g§H$[aV Vm§Xyi 1976 ‘Ü ò g§H$[aV Vm§Xyi H«$m§VrMo OZH$ .......... `m§Zr {dH${gV Ho$bo hmoVo.

1) àmo’o$ga ẁdmZ bm±J qnJ 2) S>m°. E‘.Eg. ñdm{‘ZmWZ
3) S>m°. Zm°‘©Z B©. ~moabm°J 4) ~madmbo ~r.Ama.

1) First hybrid rice was developed by.......... in 1976, the father of Hybrid Rice Revolution.

1) Professor Yuvan Long Ping 2) Dr. M.S. Swaminathan

3) Dr. Norman E. Borlaug 4) Barwale B.R.

2) Imbrbn¡H$s H$moUVo ~m°Zo H°$ìh|{S>e Am{U amo~ñQ>m Ho$irMo {OZmo{‘H$ g§{dYmZ Amho?
1) AAB 2) ABB 3) AAA 4) AAAA

2) Which of the following is the genomic constitution of Dwarf Cavendish and Robusta Banana ?

1) AAB 2) ABB 3) AAA 4) AAAA
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3) "A§{~H$m' hm Am§ã`mMm g§H$a Amho
1) Am‘«nmbr x OZmX©Z nmg§X 2) Am‘«nmbr x Aë’$mÝgmo
3) Am‘«nmbr x dZamO 4) {Zc‘ x Xehar

3) ‘Ambika’ a mango hybrid is a cross between

1) Amrapali x Janardhan Pasand 2) Amrapali x Alphanso

3) Amrapali x Vanraj 4) Neelum x Dashehari

4) Imbrb OmoS>çm Owidm :
      ~mOar        dZñnVr Zmd
A) ~moQ> ~mOar 1) Panicum sumatrense

~) N>moQ>r ~mOar 2) Setaria BQ>m{cH$m
H$) ’$m°ŠgQ>ob ~mOar 3) n°{ZH$‘ {‘br{g`‘
S>) àmogmo ~mOar 4) A°ë ẁ{gZ H$moamH$mZm
n¶m©¶r CÎmao …

A ~ H$ S>
1) 1 2 3 4

2) 3 4 2 1

3) 4 1 2 3

4) 2 1 3 4

4) Match the following :

Millet Botanical Name

a) Finger millet 1) Panicum sumatrense

b) Little millet 2) Setaria italica

c) Foxtail millet 3) Panicum miliaceum

d) Proso millet 4) Eleusine coracana

Answer options :

(a) (b) (c) (d)

1) 1 2 3 4

2) 3 4 2 1

3) 4 1 2 3

4) 2 1 3 4

5) H$moH$U h[aVnUu hr ...... Mr g§H$[aV OmVAmho
1) Aiy 2) H$mobmoHo${e`m 3) ~mU ‘yi 4) H$gmdm

5) Konkan Haritparni is the variety of

1) Tannia 2) Colocasia 3) Arrow root 4) Cassava
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6) Imbrb Owidm :
g§H$[aV OmV/hm`~«rS> {nH$mMo Zmd
a) TAKPS-5 I) ŵB©‘yJ
b) NIAW 3624 II) Ádmar
c) PU-0609-43 III) ~«oS> Jhÿ
d) K-1812 IV) CS>rX~rZ

V) ìhr. Ś‘ Jhÿ
n`m©¶r CÎmao :

(a) (b) (c) (d)

1) (ii) (v) (iii) (iv)

2) (i) (v) (iv) (ii)

3) (iii) (v) (iv) (i)

4) (ii) (iii) (iv) (i)

6) Match the following :

Variety/Hybrid Crop Name

a) TAKPS-5 I) Groundnut

b) NIAW 3624 II) Sorghum

c) PU-0609-43 III) Bread Wheat

d) K-1812 IV) Urdbean

V) Drum Wheat

Answer options:

(a) (b) (c) (d)

1) (ii) (v) (iii) (iv)

2) (i) (v) (iv) (ii)

3) (iii) (v) (iv) (i)

4) (ii) (iii) (iv) (i)

7) Imbrbn¡H$s H$moUVo ‘moZmoH$mo{Q>bS>m°Z nrH$ Amho?
1) ~rQ>éQ> 2) nmbH$ 3) H$m§Xm 4) ‘wim

7) Which of the following is a monocotyledon crop ?

1) Beetroot 2) Spinach 3) Onion 4) Radish

8) ha^am 20211 OmVrÀ`m ~m~VrV Imbrbn¡H$s H$moUVo JwU Iao ZmhrV/Zmhr?
a) dmiboë`m VUmdmÀ`m pñWVrV 3915 {H$bmo/hoŠQ>a CËnmXZ j‘Vm Agbobo ho Cƒ CËnmXZ XoUmao Amho.
b) ho {OZmo{‘Šg - ghmæ`H$ àOZZmÛmao {dH${gV Ho$bo OmVo.
c) ho ICAR — IARI Am{U ICRISAT À`m ghH$m`m©Zo {dH${gV Ho$bo Amho.
d) ho H$Zm©Q>H$ Am{U Am§Y« àXoe amÁ`mV bmJdS>rgmR>r gmoS>bo OmVo.
n`m©¶r CÎmao :
1) ’$º$ a 2) ’$º$ b 3) c Am{U d ’$º$ 4) ’$º$ d
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8) Which of the following traits is/are not true in respect of chick pea 20211 variety ?

a) It is high yielding with yield potential of 3915 kg/ha under wilt stress condition.

b) It is developed via genomics — assisted breeding.

c) It is developed by collaborative efforts ICAR — IARI and ICRISAT.

d) It is released for cultivation in Karnataka and Andhra Pradesh State.

Answer options:

1) a only 2) b only 3) c and d only 4) d only

9) H$moUVr PmS>o ŠcmoamBS>À`m H$‘VaVogmR>r g§doXZerb ‘mZbr OmVmV?
1) Zmai Am{U Vob nm‘ 2) ‘H$m Am{U e|JXmUo
3) e|Jm Am{U H$mnyg 4) Vm§Xyi Am{U Ádmar

9) Which plants are considered sensitive to chloride deficiency ?

1) Coconut and oil palm 2) Maize and groundnut

3) Legumes and cotton 4) Rice and sorghum

10) ‘mM© 2023 ‘Ü ò AbrH$S>oM A{Ygy{MV Ho$boë`m BDN - 2013 - 2 (aoUwH$m) OmVrMo Imbrbn¡H$s H$moUVo d¡{eï²>`
Amho/Zmhr?
a) ‘hmamï´>, JwOamV, ‘Ü` àXoe, amOñWmZ Am{U N>ÎmrgJS> `m amÁ`m§gmR>r `mMr {e’$mag Ho$br OmVo.
b) Ë`mV nm§T>è`m a§JmMo ~r AgVo.
c) Vo bdH$a n[an¹$ hmoVo.
d) ho {dëQ>bm à{VamoYH$ Amho Am{U ñQ>[a{bQ>r ‘moµOoH$gmR>r amoJà{VH$maH$ Amho.
n`m©¶r CÎmao :
1) a, b, c Am{U d 2) b Am{U c ’$º$ 3) a Am{U d ’$º$ 4) ’$º$ a

10) Which of the following is/are not feature/s of BDN — 2013 — 2 (Renuka) variety of pigeonpea

recently notified in March 2023 ?

a) It is recommended for State of Maharashtra, Gujarat, Madhya Pradesh, Rajasthan and Chattisgarh.

b) It has white colour seed.

c) It is early maturing.

d) It is resistant to wilt and immune to sterility mosaic.

Answer options:

1) a, b, c and d 2) b and c only 3) a and d only 4) a only

11) AZwdm§{eH$[aË`m gwYm[aV ‘mohar g§H$[aV DMH g§X^m©V - 11;
a) hm`~«rS>À`m ì`mdgm{`H$ bmJdS>rV VUZmeH$ g{hîUwVoMm Xmdm Ho$bm Jobm Amho.
b) ~mZ©go, ~mañQ>ma Am{U ~ma `m VrZ Q´mÝgOoÝg dmnê$Z {dH${gV Ho$bo Amho.
c) OrB© namJU {Z §̀ÌU §̀ÌUm dmnê$Z {dH${gV Ho$bobm hm n{hbm g§H$a Amho.
d) déU OmVrÀ`m VwbZoV gamgar 28% CËnÞmMm ’$m`Xm Xe©{dbm Amho.
darbn¡H$s H$moUVo/`mo½` {dYmZ/AmhoV?
1) a, b, c Am{U d 2) c Am{U d ’$º$ 3) b, c Am{U d ’$º$ 4) b Am{U d ’$º$
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11) In context of genetically modified mustard hybrid DMH — 11;

a) herbicide tolerance trait has been claimed in the commercial cultivation of hybrid.

b) is developed by using three transgens i.e.barnase, barstar and bar.

c) is a first hybrid developed using the GE pollination control mechanism.

d) has shown on average, a yield advantage of 28 % over variety varuna.

Which of the above is/are correct statement/s ?

1) a, b, c and d 2) c and d only 3) b, c and d only 4) b and d only

4) nmUr ì`dñWmnZ
1) EH$ hoŠQ>a joÌ Vo EH$ g|{Q>‘rQ>a Imobrn ª̀V H$ìha H$aÊ`mgmR>r Amdûm`H$ Agboë`m nmÊ`mMo à‘mU Š ẁ{~H$ ..........‘rQ>a

Amho.
1) 10  2) 100 3) 1000 4) 10000

1)  A volume of water necessary to cover an area of one hectare to a depth of one centimeter is equal

to cubic ..........metre.

1) 10  2) 100 3) 1000 4) 10000

2) {d{dY {nH$m§À`m nmÊ`mMr JaO `m {dYmZmMm {dMma H$am.
a) Ádmar - 450-500 {‘‘r b) J«°‘ - 250-400 {‘‘r
c) Vya - 70-140 {‘‘r d) ŵB©‘yJ - 500-700 {‘‘r
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) ’$º$ c 3) a Am{U b ’$º$ 4) a, b, c Am{U d

2) Consider the statement about Water requirement of different crops.

a) Sorghum — 450-500 mm b) Gram — 250-400 mm

c) Pigeon pea — 70-140 mm d) Groundnut — 500-700 mm

Which of the statement/s given above is/are correct ?

1) a only 2) c only 3) a and b only 4) a, b, c and d

3) hm`S´mo{bH$ MmbH$Vm Amho
a) H$‘r nmÊ`mMr j‘Vm Agboë`m ^mar O{‘ZrV OmñV
b) H$‘r nmÊ`mMr j‘Vm Agboë`m dmbwH$m‘` O{‘ZrV OmñV
c) H$‘r nmÊ`mMr j‘Vm Agboë`m ^mar O{‘ZrV H$‘r
d) dmbwH$m‘` O{‘ZrV H$‘r nmÊ`mMr j‘Vm OmñV AgVo
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, c Am{U d ’$º$

3) Hydraulic conductivity is

a) Higher in heavy soils under low water potential

b) Higher in sandy soils under low water potential

c) Lower in heavy soils under low water potential

d) Lower in sandy soils under high water potential

Which of the statement/s given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) a,c and d only
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4) H$moUVo amoJ gm‘mÝ`V: dZñnVt‘Yrb nmÊ`mÀ`m ñWmZm§VamV ì`Ë`` AmUVmV?
1) nmZmda {R>nHo$ 2) {dëQ²g 3) ñ‘Q²g 4) J§O

4) Which diseases generally interfere the translocation of water in plants ?

1) Leaf spots 2) Wilts 3) Smuts 4) Rusts

5) j¡{VO H«$m°g-goŠeZb joÌo Am{U nmUbmoQ>mMr C§Mr `m§À`mVrb g§~§Y åhUyZ AmoiIbo OmVo:
1) g‘moƒ 2) Hypsometric curve 3) Isobath 4)  Isocline

5) The relationship between horizontal cross-sectional areas and altitudes of the watershed is known as :

1) Contour 2) Hypsometric curve 3) Isobath 4) Isocline

6) JdVmi Ob‘mJ© gamgar àdmhmÀ`m doJmbm AZwê$n Ago {S>PmBZ Ho$bobo AmhoV
1) 1.0 m 2) 1.5 Vo 2 m/s 3) 2.5 mmfk 4) darbn¡H$s Zmhr

6) Grassed waterways are designed to suit the average flow velocity as

1) 1.0 m 2) 1.5 to 2 m/s 3) 2.5 mfk 4) None of the above

7)  ...... ho nmUbmoQ> joÌ Am{U àdmhmÀ`m EHy$U bm§~rMo JwUmoÎma Amho.
1) bm§~nUmMo à‘mU 2) dVw©imH$ma à‘mU 3) Amam‘ JwUmoÎma 4) {ZMam KZVm

7) ...... is the ratio of total length of stream to the watershed area.

1) Elongation ratio 2) Circularity ratio 3) Relief ratio 4) Drainage density

8) A{V nmÊ¶m‘wio dZñnVr ‘¥V hmoVmV H$maU ....
1) nmÊ¶m‘wio ‘mVrÀ¶m gm‘yMo CXm{gZrH$aU hmoVo
2) ‘wio Am°pŠgOZnmgyZ d§{MV hmoVmV
3) nmÊ¶m‘wio ‘wimdarc naOrdtMr dmT> hmoVo
4) dZñnVrÀ¶m dmT>rgmR>r Amdí¶H$ Agbobr gd© I{ZOo nmÊ¶mV ZgVmV

8) A plant is killed by over watering because

1) Wate neutralizes the pH of the soil

2) The roots are deprived of oxygen

3) Water supports the growth of root parasites

4) Water does not have all the necessary mineral for plant growth

9) grdoO Q´rQ>‘|Q> ßbm§Q>À`m {S>PmBZgmR>r Imbrbn¡H$s H$moUVo ‘wÔo d¡Y AmhoV?
a) àË òH$ CnMma à{H«$ ògmR>r EH$mnojm OmñV ẁ{ZQ> àXmZ H$aUo Mm§Jbo.
b) gd© ẁ{ZQ²ggmR>r eŠ`Vmo ~m`nmg Q>mimdoV.
c) hm`S´mo{bH$ {S>PmBZZo Amdûm`H$ VoWo ñd-ñdÀN>VoMm doJ gw{Z{l²MV Ho$bm nm{hOo.
n`m©̀ r CÎmao :
1) ’$º$ (a) Am{U  (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a)  Am{U (c) 4) darb gd©

9) Which of the following points are valid for design of sewage treatment plants ?

a) It is better to provide more than one unit for each treatment process.

b) Preferably by-passes should be avoided for all units.

c) Hydraulic design should ensure self-cleaning velocity wherever required.

Answer options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a) and (c) 4) All of the above
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10) nmÊ`mÀ`m à{H«$ òÀ`m ~m~VrV Imbrbn¡H$s H$moUVo `m§{ÌH$ âbmoŠ ẁboQ>g©Mo ZwH$gmZ Amho?
1) H$monè`mVrb ‘¥V OmJm 2) Q>mH$sMr H$‘r j‘Vm Amdûm`H$ Amho
3) CÎm‘ âbm°H$ {Z{‘©Vr 4) Am°naoeZ‘Ü ò A{YH$ bd{MH$

10) Which of the following is a disadvantage of mechanical floculators in case of water treatment ?

1) Dead spaces in the corners 2) Less capacity of tank is required

3) Better floc formation 4) More flexible in operation

CÎmao :

(11) H¥$fr{dkmZ d dZemó

1) ‘¥Xmemó, ‘emJV

1-4 2-2 3-2 4-1 5-2 6-2 7-1 8-1 9-3 10-2
11-3 12-1 13-2 14-4 15-2 16-2 17-2 18-4

2) eoVr{dkmZ - A°J«moBH$mobm°Or - g|{Ð` eoVr

1-1 2-3 3-4 4-1 5-2 6-1 7-4 8-1 9-1 10-4
11-4 12-4 13-1 14-4 15-2

3) {nHo$ Am{U g§H$[aV OmVr

1-1 2-3 3-1 4-3 5-1 6-4 7-3 8-4 9-1 10-2
11-3

4) nmUr ì`dñWmnZ

1-2 2-4 3-1 4-2 5-2 6-2 7-4 8-2 9-3 10-1


